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Tpufwlwb dhenguph hnupkph huunwnjuws twwhwoyh b
hudbdunwlwb gnigubhoubph

thwunwgh ppudwljui uhgngubph hnupkph
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huq. npud
Zwpybwnny 2wp|binnt SEgionmih
h/h Znnjwdh whywbnuip dunfwliwlwzpgwish dunfwbuuizpewitih ml[EI:_il;nll}a] (+)
bwhwh hy 1 sinalnl jwuqlgnud (-)
1 Tpudwlub Uhenghbph wquun dbwgnpnp hwpybunn 1602,0 1602,0 0,0
dudwbwlwppembh ulqphh
IT |Cunuukhp npuidwljub Uhongliph ukphnupkp, w)n pt{nuf 70457,5 70566,0 108,5
1 |Unipuhnhw 69294,7 69294 ,7 0,0
2 |tpuiwptnph, wyn pynu’ 761,5 846,3 84,8
2,1 [ylnnppub gndhg wunadhpalpgws dwiuubph thojuhwnnignud 394,6 319,56 =750
2,2 Juy) npudwplnphlibp 366,9 526,7 159,8
3 [Uwpwbpbbph dwnwwpupnud b swnwynipynibitkph dwwnnignud 401,3 425,0 2347
3,1 |Jéwpmfh Swnwmipiniiikphg 302,3 326,0 23,17
3, 2 |nwnufiuljwl ypwlunhljuhg 99,0 99,0 0,0
III|Chnuikbp gpudwlub vhenghtph wpnwhnupbp, wyn pynul’ 64074,3 68680,0 4605,7
w) [Cupwghl, uyy pl.[nu[‘ 62374,3 67542,9 5168,6
1 |Uplownwywpd, nphg 55000,0 60895,0 5895,0
2 |Bubpgbwnhly dwowynipymbbibp, wyy pynud’ 4650,0 4086,4 -563,6
2, 1 |okpmgmu 4000, 0 3258,7 -741,3
2, 2 | Euputitpghw 650,0 8277 17757
3 |Yndnibwy dwowymipinibikp, wyy pymd’ 80,0 88,5 8,5
3, 1 |gpunup-Ynyninh : 50,0 58,5 8,5
3, 2 (whinwpwbnpni 30,0 30,0 0,0
4 |Ywwh dwnwinipymibbkp, wn pynu’ 136,4 102,1 -34,3
4, 1 [pwdwbinpyuyht Ydwp 86,4 86,4 0,0
4, 2 |pnybunjdwp 50,0 15,7 -34,3
5 |[Vwubwghwwlwh swnuwjnipinibbbp 250,0 108,0 =-142,0
6 | Mwpwlwgpuihl Swnwnipnibbbkph dbnppkpnud, wyn pynud’ 255,0 158,8 -96,2
6,1 [hunfwlupgyuyhtl Swouwympnilibp 95,0 95,0 0,0
6, 2 Jwphwunwluqih vwubwghnwljui qupqugdwl Swnuynipnibiikp 0,0
&, 3 |nknklunnuljwh Swnwynipniiikp 60,0 27,6 -32,4
6,4 [punhwlinip plinyph wy Swnwynipiniiikp 100,0 36,2 -63,8
7 |Cupwghy kpwhnpngnid, wjp pynud 760,0 666,0 -94,0
7,1 [2tuph L Ywnnyghkph 700,0 638, 0 -62,0
7,2 |ubpklwbkph b uwppunpnudibkph 60,0 28,0 -32,0
8 [Umpkp (wwypwbpbkp), wny pynud’ 1050,0 1380,3 330,3
+ 1 |gpuubkljmughl wypwiplkp 300,0 385,3 85,3
8,2 [jkugunuyhl U hwbpuwihl ultinh nipkp 300,0 410,0 110,0
8, 3 |wonnouywhwlwl U jwpnpunnp ynypkp 150,0 90,0 -60,0
8,4 [hunnntly wyuwnwluyh wy ynipkp 300,0 495,0 195,0
9 |Mwpwnwnhp J&wpbbp, wyny pynud 192,9 57,8 =135,1
9, 1 junpuwhwbnppul gdny 189,9 57,8 =132.,:1
9, 3 Jwy) wwpnwunhp J&uphhp 3,0 -3,0
P |Yughinw), wyn pynud 1700,0 1137,1 -562,9
1 |[Zpbwlhwh Jvhgngukph dknpphpnud, wyy pynul’ 1700,0 150,0 -1550,0
1) [dwpswljwh uwppwynpnulubp, wn pydnud 1700,0 150,0 =1550.0
1,1 jwpwlbpinwljub qnyp 150,0 150,0
1,2 |gpuubljuluyh b whnbuwlwl gnyp 900,0 0,0 -900,0
L, 3 [hwdwlwpgywiht wwppuwnpnudibp / nbulihlju 800, 0 -800,0
2 |Zhduwlhwl Uhgngubkph hhubwlwh YEpwlnpngnud, 0,0 987,1 987,1
2, 1 [udpugjws qnuph (oklp) 987,1 987, 1




